
490422 - PS 300 EQ



Pos Teile-Nr. Benennung Menge

1 491851 Anker 230-240V 1
2 491767 Feldpaket 230-240V 1
3 490200 Schalter 1
4 489927 Steckergehäuse 230V 1
6 400669 Linsenschraube 3,5 x 30 mm 3
7 451796 Abstreifer 1
8 451371 Buchse 1
9 490207 Getriebedeckel 1
10 228509 Linsenschraube M4 x 12 3
11 451372 Buchse 1
12 451366 Biegefeder 1
13 451367 Spannhebel 1
14 400565 Linsenschraube 3,5 x 70 mm 2
15 457337 Bundschraube 1
16 490209 Kulisse 1
17 490210 Hubstange 1
18 461987 Schraubendreher 1
19 228520 Vierkantmutter M5 1
20 10029350 Tisch 1
21 490120 Splitterschutz 1
22 453082 Pratze 1
23 490212 Schlitteneinlage 1
24 400062 Zylinderschraube M4 x 7 6
25 400526 Zylinderschraube M5 x 25 1
26 489686 Haube 1
27 400535 Zylinderschraube M4 x 20 2
28 400008 Nadelhülse 2
29 490213 Exzenter 1
30 10005928 Gewicht 1
31 490214 Zahnrad 1
32 490208 Getriebegehäuse 1
33 490215 Dichtung 1
34 704311 Lager 1
35 200617 Sicherungsring 1
36 400009 Stützscheibe 1
37 457043 Scheibe 1
38 490216 Pendelantrieb 1
39 490217 Halter 1
40 499559 Halter 1
41 490218 Pendelsteuerhebel 1
42 400678 Zylinderschraube M3 x 8 1
43 453491 Spanflugschutz 1
44 10027974 Absaugstutzen 1
45 400524 Linsenschraube 3,5 x 30 mm 2
46 400626 Rillenkugellager 1
47 457383 Ventilator 1
48 489608 Electronic 230-240V 1
49 228672 Rillenkugellager 1
50 444018 Magnetring 1



51 458964 Luftführungsscheibe 1
52 219069 Linsenschraube 3,0 x 12 mm 2
53 474364 Motorgehäuse 1
54 490220 Kohlehalter mit Kohle (Paar) 230V 1
55 451346 Kappe 1
56 400584 Linsenschraube 3,5 x 16 mm 1
57 453490 Hebel 1
58 219031 Linsenschraube 3,5 x 10 mm 2
59 465089 Schaltgestänge 1
60 451347 Schiebeschalter 1
61 451354 Dichtung 1
62 490219 Kohle (Paar) 1
63 494166 Tisch inkl. Sohle 1


